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QUESTION 1

What is true about queries submitted on the PureData System for Analytics Appliance?
A. Queries are uncompressed by the host and sent to the user.

B. Queries are consolidated by the host and executed together in one block.

C. Queries are compiled by the host and executed in parallel by the S-Blades.

D. Queries are compressed by the host and optimized for parallel processing.

Correct Answer: C

QUESTION 2

Which two characteristics describe materialized views. (Choose two.)

A. Materialized views can contain aggregates.

B. Materialized views can contain a HAVING clause.

C. Materialized views can contain a WHERE clause.

D. Materialized views can contain an ORDER BY clause.

E. Materialized views can reference only one base table in the FROM clause.

Correct Answer: DE

QUESTION 3

When is the Toplogylmbalance event triggered?

A. When a SAS switch has failed.

B. When the path the path between an S-Blade and its disks has failed.

C. When a disk enclosure\\'s voltage sensor is reading outside the nominal range.

D. When an S-Blade has ownership of more dataslices than is optimal (usually following a disk replacement).

Correct Answer: D

QUESTION 4
What is the maximum number of columns that can participate in a distribution key?

A. One
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B. Four
C. Unlimited
D. Depends on the number of columns of integer datatype.

Correct Answer: B

QUESTION 5

Which two commands can be used to shut the database system down? (Choose two.)
A. nzstop

B. nzdown

C. nzhw stop

D. nzsystem stop

E. service halt nps

Correct Answer: AD
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